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Q.1 Choose the most appropriate word that can substitute the given group of words.

The highest point
Ans (1. Horizon

/< 2. Paradise

|

3. Zeniih

#5 4. Nadir

' Question ID : 239087946
. Status : Not Answered
| Chosen Option : --

Q.2 Select the most appropriate meaning of the given idiom.

Out of date
Ans K 1. Being careless
-(-gf"’ 2. Something old fashioned
x 3. A worthless fellow
)( 4. A date seed

Question ID : 239087944
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate antonym of the given word.

Cautious
Ans )( 1. Discreet

o 2. Negligent
K 3. Prudent

/< 4. Alert

Question ID : 239087941
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate option to fill in the blank.

Thereis no in the container for the water to flow.

Ans X 1. link




\L_r/J 2. outlet

)< 3.room

)(’ 4. escape

Question ID : 239087950
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate option to fill in the blank.

The incident made a

Ans X 1. factual
){’ 2. rounded

2{ 3. perfect

gf 4, deep

impression on Karan.

Question ID : 239087949
Status : Answered
Chosen Option : 3

R, — N — S

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The quick thinking of an animal lover saved (1)___ life of a turtle who had (2)___ a fishing
hook and a safety pin. The female turtle was (3)___ on the streets of Mumbai by the animal
lover, (4)___took it to a vet. An X-ray (5)___ the presence of sharp objects in its stomach.
The turtle was operated upon successfully.

SubQuestion No : 6
Q.6 Select the most appropriate option for blank No. 1.

Ans X' 1. one
e_-r‘] 2. the
?( 3.an
?( 4.a

Question ID : 239087934
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The quick thinking of an animal lover saved (1)____ life of a turtle who had (2)__ a fishing
hook and a safety pin. The female turtle was (3)_ on the streets of Mumbai by the animal
lover, (4)____took it to a vet. An X-ray (5)____ the presence of sharp objects in its stomach.
The turtle was operated upon successfully.

SubQuestion No : 7
Q.7 Select the most appropriate option for blank No. 2.

Ans )< 1. absorbed
K 2. feasted
)‘( 3. drowned

o 4. swallowed




Question ID : 239087935
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The quick thinking of an animal lover saved (1)___ life of a turtle who had (2)_afishing
hook and a safety pin. The female turtle was (3)___ on the streets of Mumbai by the animal
lover, (4)___took it to a vet. An X-ray (5)____ the presence of sharp objects in its stomach.
The turtle was operated upon successfully.

SubQuestion No : 8
Q.8 Select the mast appropriate option for blank No. 3.

Ans K 1. finds

/5 2. find

/< 3.finding
f:#"" 4, found
Question ID : 239087936
Status : Answered
Chosen Option : 4
Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The quick thinking of an animal lover saved (1)___life of a turtle who had (2)____a fishing
hook and a safety pin. The female turtle was (3)___ on the streets of Mumbai by the animal
lover, (4)___took it to a vet. An X-ray (5)___ the presence of sharp objects in its stomach.
The turtle was operated upon successfully.

SubQuestion No : 9
Q.9 Select the most appropriate option for blank No. 4.

Ans "\‘yw‘ 1 '\"‘."ho
K’ 2. whose
,?< 3. whom

K 4. which

Question 1D ; 239087937
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The quick thinking of an animal lover saved (1)___ life of a turtle who had (2)_ a fishing
hook and a safety pin. The female turtle was (3)__ on the streets of Mumbai by the animal
lover, (4)___took it to a vet. An X-ray (5)__ the presence of sharp objects in its stomach.
The turtle was operated upon successfully.

SubQuestion No : 10
Q.10 Select the most appropriate option for blank No. 5.

Ans ﬁar 1. revealed
2( 2. covered

)( 3. protected



)( 4. concealed

Question ID : 239087938
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate option to fill in the blank.

He is a descendant the Mughal royalty.

Ans )‘( 1. for

o 2. 0f
)( 3.in
/< 4.0

Question 1D : 239087932
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

Only me can solve the problem.

Ans offf 1. Only | can
)( 2. Me can only
)( 3. No Improvement

2( 4. Only me could

Question 1D : 239087928
Status : Answered
Chosen Option : 1

- e — - e P— =

Q.13 Choose the correctly speh word.
Ans X" 1. Jelousy

)( 2. Corupt

X 3. Intrest

w4, Miniature

Question 1D : 239087948
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate synonym of the given word.

Obvious
Ans X" 1 vague

_)< 2. Various
)< 3. Flexible

o7 4. Evident

Question ID : 239087939
Status : Answered
Chosen Option : 4



LN

Q.15 Choose the most appropriate word that can substitute the given group of words.

One who can't speak
Ans X' 1.Bevy

2( 2. Quiet

]( 3. Orphan
a_ﬁfj 4. Dumb

Question 1D : 239087945
Status : Not Answered

Chosen Option : --
Q.16 Select the most appropriate synonym of the given word.
Optimist
Ans X' 1. Critic
)( 2. Distinct
x 3. Pessimist
bvf 4, |dealist
Question 1D : 239087940
Status : Not Answered
' Chosen Option : --
LN

Q.17 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

When the little girl loses her doll, she began to cry.
Ans 5 1. loss her doll

£< 2. No Improvement
/< 3.1losing her doll

oy 4 lost her doll

Question 1D : 239087929
Status : Answered
Chosen Option : 1

Q.18 Choose the correctly spelt word.
Ans K— 1. Peirce

x 2. Indevidual
o 3. Extract

75 4. Luxeuries

Question ID : 239087947
Status : Answered
Chosen Option : 3

Q.19 Find the part of the given sentence that has an error in it. If there is no error, chcose ‘No
error’.

Pallavi is the cleverest of the two sisters. /No error

Ans



)( 1. of the two sisters

)( 2. Pallaviis

Question ID : 239087926
Status : Answered
Chosen Option : 1

Q.20 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
errar’.

Either of the two books will met my requirement. /No error

Ans O 1 Either of the
)< 2. No error
,‘»y' 3. will met my requirement

)(’ 4. two books

Question 1D : 239087927
Status : Answered
Chosen Option : 3

Q.21 Select the most appropriate meaning of the given idiom.

As a matter of fact
Ans -;~_r,r" 1. Actually as it happens
#< 2. To seize a good opportunity
)( 3. To forgive and forget

x 4. Just at the last moment

Question ID : 239087943
Status : Answered
Chosen Option : 1

Q.22 Select the most appropriate antonym of the given word.

Tranquil
Ans K 1. Calm

)< 2. Peaceful

)(r 3. Cool

‘,qgr" 4. Stormy

Question 1D : 239087942
Status : Answered
Chosen Option : 4

Q.23 Select the most appropriate option to fill in the blank.

He done it.

Ans )( 1. should have been

«f 2. shouldn't have



)< 3. should had not

)< 4. should not had

Question ID : 239087931
Status : Answered
Chosen Option : 2

Q.24 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

Mr. Kansal has been living in Delhi since 10 years.

Ans X 1. until

o 2. for

/< 3. No Improvement

)< 4. from

Question 1D : 239087930
Status : Answered
Chosen Option : 3

Q.25 Find the part of the given sentence that has an error init. If there is no error, choose ‘No
error’.

My brother brought a few rice while coming from the market. /No error

Ans X 1. No error
)( 2. My brother brought

W 3. afew rice while

,,>< 4. coming from the market

Question ID : 239087925
Status : Answered
Chosen Option : 2

Section : Seneral Intelligense & §

sering

Q.1 ¥ Ru fail & & 9 S 31 gig it Frafaf@a siaen 9 ust g (7) & 9™ o gt
3,7,22,89,7
Ans X' 1452
o 2. 446
/< 3.448
¢< 4.440

Question ID : 239087687
Status : Answered
Chosen Option: 2

Q.2 B:gFH K, M, 0, Q, S aur U I Y 3R @ &eah Uah gaTaR U & 36— @2 frg 1 € (S8
T frd s s A @)1 Q, U & ardff stk g@wr 81 S, M & X ardl 3R 81 K, O & arfi ok g@=r
210, Q & gia arff Sl &1 0 & awdfi ofk R +u= R =19 91 & @@= fohar mar g?

Ans 1

K 2.K




/< 3.8
K au

Question ID : 239087683
Status : Not Answered
Chosen Option : --

Q.Z; Fﬁﬁﬁﬁﬂﬂ?H&Iﬁ@mﬂqaﬁYGﬁWWMWaﬂm@ﬁﬁﬂfﬁqmﬁlﬁ'c{ﬂ'tf
muﬁaﬁmﬁqmﬁgq,aﬁ%awmmmﬂmamﬁﬂﬁamﬁagﬁﬁ, Tt Frept =t ufew
itz fie Eruffta Rifore fF Ry me w8741 Frsend, shyl o1 a1fthes w0 @ SIIER0T Sdl/Hed
gl

FHUA:

1. B TRl ge TR 81
Il. T g= TR &l

fread:

1. B2 eraR AEfhet g €1
Il. 5 TR A &1

Ill. & TrEfinet g8 61

Ans 3 1. T R Il a1l SR & 81
£ 2. 2 Freemd | @t 11 SieReT aed &)
#5 3. gt Foree 1l Srga0T G 81

o 4. e e 1l SRR TR B
r ' Question 1D : 239087685
i Status : Answered
[ Chosen Option : 2

Q.4 ©e R g JTaT d, ‘RIGHT' it '98653" foran s &, ‘CLERK’ =t '04297" forat et 1 3¢t
e 1o § ‘GREET' <1 hts a1 ghm?

Ans 169223
< 2.69227
£< 3.69330

25 4.69332

Question ID : 239087680
Status : Answered
Chosen Option : 1

Q.5 P Rt 8w ot g i i, e ol wdu 8, ot = R e ser g 321
RP:SQ:?
Ans 31 L:IK
o 2.KG:LH
7< 3.MA:NZ

£ 4 RV:QW

Question ID ;: 239087677
Status : Answered
Chosen Option: 2

Q.6
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R O 9
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a0 9
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R O 9
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R O 9
K417 P

Vv Q

[ Question 1D : 239087693
i Status : Answered
L Chosen Option : 1

Q.7 ARy e uy &, o U 3R Ik a5 34 Syl ) HURT o Fread R g 81 g my
zﬁuﬁaﬁmﬁmgq,m%aqmmmﬁmmﬂéﬁamgﬁﬁ, Tt st &t afge
3T fire Pruffa AT fF Rt e o /a1 Freed, syt o difche =0 & SgERT Sedl/aed

2l
YU

. g YA T gl
Il. s o T TE 2
foreepe:

1. g Y gl
II. T a5 Y E1

Ans ‘,\y" 1. et s 11 sl Gear 81
25 2. ¥ oft e sERor T8t o 81
£< 3. et e | R HRaT 21
/< 4. 3 Pramd | @t 11 SR @7 §)

Question ID : 239087686
Status : Answered
Chosen Option: 2

Q.8
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oy greie
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Question ID : 239087696
Status : Answered
Chosen Option : 2

Q9 g7 3N gT S A T 7T w0 F d & TEG F G ARI07 A 2

Ans
@0
< 2



. OOO

Question ID : 239087698
Status : Answered
Chosen Option : 3

Q.10 =3 R o Rl WER aee @ |, 16 + 19 x 51 + 153 — 12 &7 A1 &1 gim?

X dqdYr =+

Question ID : 239087691
Status : Not Answered
Chosen Option : --

T et — - L ——X

Q.11 39 e o1 7o &3 ot dier eree & It oRg & Heide @ S g ez ugd o @ Wil g1
areny ; forama 1 g ?
Ans K1_aa;

o 2. rslai

/< 3. 9@
£< 4.t

Question ID : 239087675
Status : Answered
Chosen Option : 2

Q.12 Select the option that is related to the third term in the same way as the second term is
related to the first term.

Office : Clerk :: Site : ?
Ans )( 1. Servant

K 2. Shopkeeper
)(— 3. Teacher

« 4. Engineer

Question ID : 239087676
Status : Answered
Chosen Option : 1

Q.13 U fafe ge “mar §, ‘GARAGE’ @t 'JEUEJ!' ferat strar &1 3t g5 vimat # "OFFICE’ a:raﬂ:gw
ghm?

Ans X 1. JKINGJ
< 2. RKIMFI

/< 3. JLINGJ




o 4. RUINFI

Question ID : 239087678
Status : Answered
Chosen Option : 4

Q14 R v Yok o A semwe Afew AR W gl B 9T SR sy # R I de
T B

Ans j}

- ),_\.}:

l Question ID : 239087694
Status : Answered
Chosen Option: 3

Q.15 =Y e sjaer & et 2, T & e oteR e Tt R e &1 R g Fieneit & & g et e
g, S sjaen @ HRA '

ML, RQ, WV, BA, ?
Ans X 1.HE

o 2.GF

/5 3.GE

/< 4.HF

Question 1D : 239087674
Status : Answered
Chosen Option : 2

Q.16 Traffd v & v v fwedt & ¥ 3w dear & 7 A wea Bea () F v 9 1w

8§ 418
3913
6 87

Ans KL 15
o2 18
<3 17
X 4 21

(SRR

W

Question 1D : 239087690



Status : Answered
Chosen Option: 2

Q.17 U fafdre ge smar #, ‘FOSSIL &t 'KHRRNE’ foraT ST &1 391 e uToT 7 ‘FUNGAL T 51

/X 2. KAFMTE
25 3. LAGMUF

/< 4. LAGNUF

Question ID : 239087679
Status : Not Answered
Chosen Option : --

Q.18 I Frereq ot IO ¥ ot il T @ oot avg d Sdiha § S gudt den weddl den 9
Hafaa &1

18:323::38:7
Ans 5 1.1339

I Question ID : 239087689
i Status : Answered
I Chosen Option : 2

Q.19 ©: 31eATUE A, D, G, J, M a1 P 3 &l 3R §@ Ti¥eh Ueh gaTehR AST & 36-ME A3 gu 8 (S
7 5 & et s A @)1 M, G & ardi ez dfeRT @1 D, J & i Al ik &1 A, M & e ardi 8iiR
] '

afe ga P @ at it gF = Ren & Mo R &, @t P aur J & wen i sreanues &S guE?

Ans (1.4 ‘
K 2.2
’\*'_'?"JS‘

/< 4.3

Question 1D : 239087682
Status : Not Answered
Chosen Option : --

Q.20 == ey v &t AT o wER geem W Frafafaa d @ @ ar afteor 9@t ghm?
Xdaur+
Ans X 1.13-12x5+11=46
K 2.4+9x11+3=37

o 31T x6+18+54=29

K 46x11+13=11=17

Question ID : 239087692
Status : Not Answered
Chosen Opticn : --




Q.21 Uig TRgu A, K,ﬂRamTqa:a:wqa:t@mﬁ%(mqiﬁﬁ:ag@ﬁmﬁﬁ)l KaurP &
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.
o 4 A

Ans

Question ID : 239087684
Status : Answered
Chosen Option : 4

Q.22 ma?mmamﬁﬁﬁmﬁmm%mgﬁﬁmﬁm%ﬁﬁﬁmm%lm

ST Qe ST &7 57 & T 3ok ptad F ¥ frws S g

.................

Ans

/< 3.

Question 1D : 239087697
Status : Answered
Chosen Option : 4

Q.23 qzﬁﬁfsmar@«: amar §, ‘POEM’ &t ‘1351516 %@rmé,ﬁoa' ;ﬁ ‘2151 ST%ETGI‘E{T%I feech)
e WA # ‘MAID’ ST IS T ghr?

Ans X 1.13195
o 2.49113
/< 3.59146

/< 4.13194

Question ID : 239087681
Status : Answered
Chosen Option : 4




Q.24 = Re Rrered] & @ 37 weer 1 gRre ot Prafaf@a sien & war Rig (2) & wum= @ smefh

307, 303, 299, 295, ?

i

Ans 1 297

/< 2.293
/5 3.287
< 4.289

Question ID : 239087688
Status : Answered
Chosen Option : 1

Q.25 & ¢ seay FplaEl # ¥ 37 Fe AP W AT FEA Y & 7 mF gl FARAHEHR 6

L

Ans

Question ID : 239087695
Status : Answered
Chosen Option : 1

Sectinn : Mumerical Aptitude

Q1 Gy o7 it R (inradius) Fer TRE=w (circumradius) FT 3T e 82
Ans K112

X242 .3

<31:3

o4 A2




Question ID : 239087820
Status : Not Answered
Chosen Option : --

Q2 Ilﬁ:x+y=52?f9.rrx-y=20§',aTx:yaaTmeﬁv_d?iT%?
Ans - X1.3:2
K23:4
@394
K47:5

Question 1D : 239087809
Status : Answered
Chosen Option : 3

@3 7 a1 a‘&ﬂ'i; FT Fgcadd TATTEGH (T 8 Th) Freferm g7

Ans 7

K1 —

64
- 147

8]
b3

,
s
(1 e g

Question 1D : 239087799
Status : Answered
Chosen Option: 4

pr—N S Lo S

Q.4 A gur B 1 ®ifte ¥ FHW: 112000 TUT 000 ¥ 37 MRS &0 & Hq9d 5 3 E1 IR ¥
AE A AR TG & T oA W Ted gL A e A = 32

Ans /132000
X 2. 71500
< 3.3800
« 4 71000

Question ID : 239087811
Status : Answered
Chosen Option : 1

Q5 gfEx+y+z=360
Ans X180

<2 80

<330

o4 40

X:y:z=4:3:2% ary+ z-x & A a7

Question ID : 239087810
Status : Answered



l Chosen Option : 4

Q.6 mﬁmmﬁm%qﬁaﬁﬁmm-aw?ﬁﬁmﬁrmﬁ#réwﬁaﬁ%l

100 - B
350 1 B R T

<0 281 m

300 62 i

250 {74

200 -
150
100 -
50 -

FLt &Y JEar

DI D2 D3 DY DS D6 D7 D8 D% DI0

f&eT

D3 T D8 & T FRI 7 HEAT & HaX forae §7
ans 1 41

X2 45

K3 37

K4 33

Question ID : 239087823
Status : Answered
1 Chosen Option : 1

S

Q.7 %:@r:g\mmq:S%ammﬁaﬁzﬁ#mmquaﬁ%mmmizs%l
Hqow e 87 '

Ans /'1.210000
< 2. 215000
< 3312000
< 4. 25000

Question ID : 239087812
Status : Answered
Chosen Option : 1

Q.8 faxir v ® 20% w0 W qU 18% g W 39N W RFHT 75w & 3} 570 §1 7R g 12% F@
o 9T T, o IE H e gew fhaer g

Ans X1, 31760
X 2. 31540
«'3.31320
X 4 31650

Question ID : 239087807
Status : Not Answered
Chosen Option : --

Q.9
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350 e 312 314 ME
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250 1
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0 z T
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HRT Y qEar

et

W A & W 10 A F @ W A o T R 32
Ans 1. 3882
< 2. 3462
3. 3062
< 4. 3862

Question 1D : 239087822
Status : Answered
Chosen Option : 3

NP~ G S )

Q.10 X fndr & & 3r%em 15 2 & o< Gl §1 Y 38 & F ehorm 30 o H & Tehar g1 X, Y aur
7 UF Ty REE 39 &3 #7 9 o #F X THd ¥ Z 3W w1 @ ool ael BT F X Tepar 82

Ans  X'1.120
290
< 3 45
< 4. 60

Question ID : 239087815
Status : Answered
Chosen Option: 2

Q.11 23000 #r T Fr 20% W= & TFgfe w00 I (TG FT ¥ GO R B3 BFar 2w §) 2 Fut
T TohTS S e &7

ans 1. 71360
X 221200
o 5 71320
X 4. 21440

Question 1D : 239087813
Status : Answered
Chosen Option: 3

Q.12 fodr 3o (ReisR) 7 a6 Io0 &9%er 25344 cm? § T 38T F1s 32 em @1 38 do (Fosy) &7
A et & ey aifiar R or 4o (ReisR) & 39ad & = 4T €2

Ans - X13168 cm?
«'2 6336 cm?
<3 1584 cm?




X 4 9504 cm?

Question ID : 239087818
Status : Not Answered
Chosen Option : --

Q13 39+26+22+11x2+4X3
&7 AT fehder g2
20f5-3(7+10+2-3x3)

Ans - 61
1. —
x 2
. 49
2. —
K 2
. 39
3. —
X 2
o a2
E 2

Question 1D : 239087801
Status : Not Answered

Chosen Option : --

Q11 frefr axg @1 oeTa Hed 21800 ¥ ofy o 32% ¥, O Rw gea fhaer g7
ans X1 32288 | |

o2 32376

< 3. 32456

K 4. 32496

Question ID : 239087808
Status : Answered
Chosen Option: 2

——

Q.15 = REr 7107 &8 3G hET T 8F # U Ho-3 el & T SR HT HEw Y geiar gl

100
330 i 312 314 ME i
300 4 e (M

|

DI D2 D3 D{ Df D6 D7 D8 D9 DI0

315 3%

FRY HT FET

o

=

D10 # T FRT H FE&, D1 F T FR H FEwW F Fheet Sfaud (@ QeT T %) Ao §?
ans X1 57.11%

<2 52.11%

K 3.42.11%

4 47.11%

Question ID : 239087821
Status : Answered
Chosen Option : 3
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2 3
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Ans 1 3

X25
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Questjon ID : 239087805
Status : Answered
Chosen Option : 1

S [— —

Q.17 %ﬁrar%rqrzo%#rqzéﬁa:wmaﬁégﬂmw%mmm% sifeha Ao, &g Heg &
forceT wfaerT &7

ans 1. 122.6%
X2 137.5%
<3 150%
o1 162.5%

Question ID : 239087804
Status : Answered
Chosen Option: 2

U ue T F FEUT 24 cm Bl IR IRE hger 82
Ans 1. 28 em

72 4842 cm

<3 36v2 cm

K 4 4642 cm

Question 1D : 239087819
Status : Answered
Chosen Option : 2

Q19 (244+16x5—80f4) +~ 84 X 48 + 24 X 6 + 4 + 3 & HAA fohaar 87
Ans 139
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Question ID : 239087800
Status : Answered
Chosen Option : 1

Q20 A B 3 15% 30w 1 B, A & frae 9aud &8 (GUAAT ¥ & TUW aF) &7
Ans X 1.9.17%
<2 18.14%
3. 13.04%
K4 6.14%

Question ID : 239087806
Status : Answered
Chosen Option : 2

— T —

Q21 a7/ & 3T (SEE) T 14 km/h g1 @ Y FEERER (HEEIR) AT 10 km/h 21 &g @ g
S A 72 km H g fhaw wAT & 99w w87

e X g me
“26 U
K4 g
K412 ge

Question ID : 239087816
Status : Answered
Chosen Option : 4

Q.22 o w1 24 fBwe # 18 km & g 77 = W 81 Bl aw & iy FR A G &) @@ 135 km
g frawr fee # aa & wadr €7

A X148 e
72 90 fA=e
<3 50 fAee
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